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the Browning. B) Writing a postcard.[] [J [1 www.examda.com C)
Looking for a postcard. D) Filling inaform. O O O O 0O BO CO O
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4. M: What\s the matter? You\ve been sitting there for ages, just
staring into space. W: | told the Browning I\d send them a postcard.
Now | don\t know what to say. Q: What\s the woman doing? 1 [
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OO00OO0!'odond 19990 120 O 600 6. A) She can’  tfinish
her assignment, either. B) She can’ t afford a computer right now.
C) The man can use her computer.d O 00 O O O D) The man



should buy a computer rightaway. 1 U O U 00 BO CO O O BO O
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O'dododod 6. M: \m frustrated. We\re supposed to do
our assignment on the computer, but | have difficulty getting access
to the computers in the library. W: | understand the way you feel.
I\m looking forward to the day when | can afford to get my own. Q:
Whatdoesthewomanmean? U OO0 OO0 000 OO0OO
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(1900 9. A) The man should stick to what he’ s doing. B) The man
should take up a new hobby. C) The man should stop playing tennis.
D) The man should find the cause for his failure. O U OO O O 0O [
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going to give up playing tennis. | lost again today. W: Just because
you lost? It that the reason to quit? Q: What does the woman imply?
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(1 0O 7. A) The visiting economist has given several lectures. B) The
guest lecturer’ s opinion is different from Dr. Johnson’ s. C) Dr.
Johnson and the guest speaker were schoolmates. D) Dr. Johnson
invited the economist to visit their college 1 U 00 OO O A CU DO
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0000000 7. M: The visiting economist is speaking tonight,
but Dr. Johnson doesn\t seem to think much of him. W: That\s
because Dr. Johnson comes from an entirely different school of
thought. Q: What do we learn from the woman\s remark? [1 [J [J [
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